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Algorithm 12.3 (Nonparametric bootstrap for iid 

bivariate data)
Repeat for 

1. Sample  from  with replace-

ment.

2. Calculate  as the estimate of  based on the data

.

Example 12.1 (cont)
Assume now  is the pair of baseline and one year of treatment

counts, and our interest is in the correlation between the two counts. In this

case  is the empirical correlation between the two counts, equal to 0.723

for the observed data. Figure 12.2 shows a histogram of

. The bias estimate is equal to –0.007 while the estimate

for the standard error is 0.090. Note that the histogram is quite asymmetric

because the correlation needs to be smaller than 1. Such asymmetry will be

important to take into account when constructing confidence intervals.

Figure 12.2 Histogram of  for the CD4 counts data. Nonparametric
bootstrap with  equal to the sample correlation coefficient.
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